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Coterminal Angles

When you sketch an angle of 60° and an angle of 420=4standard
position, the terminal arms coincide. These are g6terminal angles.
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coterminal angles

« angles in standard
position with the same
OJ terminal arms

* may be measured in
36 o degrees or radians
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coterminal angles, as
Y are 40° and —320°

Strategy for finding coterminal angles in either radians or degrees?
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For each angle in standard position, determine one positive and
one negative angle measure that is coterminal with it.
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Determine a negative angle co-terminal with each
of the following angles:

1) 476895° gy 32784R |
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Practice Problems...

Pages 175-178
#3,4,5,6,7
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